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            Module 1

  New Vision of EE  


Sample Exam 10

1. A start-up chemical company has established a goal of making at least a 25% per year rate of return on its investment. If the company acquired $40 million in venture capital, how much did it have to earn in the first year?

2. How much money would be accumulated in 5 years with an initial deposit of $10,000, if the account earned interest at 12% per year for the first 3 years and at 15% per year for the last 2 years?

3. A proximity sensor attached to the tip of an endoscope could reduce risks during eye surgery by alerting surgeons to the lo​cation of critical retinal tissue. If a certain eye surgeon expects that by using this technology, he will avoid lawsuits of $0.5 and $1.25 million 2 and 5 years from now, respectively, how much could he afford to spend now if his out-of-pocket costs for the lawsuits would be only 10% of the total amount of each suit? Use an interest rate of 8% per year.

4. Calculate the future worth of a geometric gradient series of payments with an amount of $2000 in year 1 and each suc​ceeding amount increasing by 10% per year. Use an interest rate of 15% per year and a 7-year time period.

5. Calculate the amount of money in year 8 that is equivalent to the following cash flows, if the interest rate is 16% per year.

	Year
	Amount, $
	Year
	Amount, $

	0
	900
	5
	1300

	1
	900
	6
	-1300

	2
	900
	7
	500

	3
	900
	8
	900

	4
	1300
	9
	900


6. The cost of spacers used around fuel rods in liquid-metal fast breeder reactors has been decreasing because of the availabil​ity of improved temperature-resistant ce​ramic materials. Determine the present worth (in year 0) of the costs shown in the diagram below, using an interest rate of 15% per year.
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7. Find the value of x in the diagram below that will make the equivalent present worth of the cash flow equal to $40.000, if the interest rate is 15% per year.
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